1 – Solve the following and write any remainders as whole numbers

1)  2,577 ÷ 3 = 
2)  3,536 ÷ 8 = 
3)  7,713 ÷ 9 = 
4)  1,330 ÷ 2 = 
5)  1,704 ÷ 3 = 
6)  5,915 ÷ 7 = 
7)  1,662 ÷ 3 = 
8)  6,013 ÷ 7 = 


2 – Solve the following and write the answer with decimals (if the answer is not a whole number)

1)  8,744 ÷ 5 = 
2)  9,542 ÷ 5 = 
3)  4,752 ÷ 3 =
4)  8,425 ÷ 8 =
5)  7,845 ÷ 4 = 
6)  9,589 ÷ 9 = 
7)  8,127 ÷ 9 = 
8)  7,455 ÷ 6 =


3 – Solve the following and write the answer with fractions (if the answer is not a whole number)

1)  8,542 ÷ 3 = 
2)  2,115 ÷ 4 = 
3)  9,541 ÷ 6 = 
4)  5,244 ÷ 5 = 
5)  5,482 ÷ 7 = 
6)  8,591 ÷ 3 = 
7)  3,884 ÷ 5 = 
8)  4,685 ÷ 6 = 



1 - ANSWERS


1)  859
2)  442
3)  857
4)  665
5)  568
6)  845
7)  554
8)  859


2 - ANSWERS



1)  1,748.8
2)  1,908.4
3)  1,584
4)  1,053.125
5)  1,961.25
6)  1,065.4444444444444
7)  903
8)  1,242.5


3 - ANSWERS



1)   2847 and 1/3 
2)   528 and 3/4
3)  1,590 and 1/6
4)  1,048 and 4/5
5)   783 and 1/7
6)  2,863 and 2/3
7)  776 and 4/5
8)  780 and 5/6

[bookmark: _GoBack]
